


































Solutions to PracticeProblems a
Sec2 I
8 On 12,2or 4 55.9584562 4162ol 2

On 12,2001 55.995984562.001z 4016

On 12 2ooo 4 55.999599kt 4.00162.001 2
Thesevalues appeartobeconverging to a limitingvalueof 4 This leads us to conjecture that attime
f 2 the instantaneous velocity is 2

12 Theslope of thesecant linefrom 6 a to x ftx is
45

la wetabulatethefollowing values

t.IEtsiof t t e.EoH
b Weconjecture that thesevalueshave a limitof 0 as

x approaches 2

c The answer in lb confirms our predictionbased on
thegraph the green secant lice approaches the
red tangentCiae as x z and this tangent line
is horizontalso its slope is zero



He14 a 15.3

by SH s o
To 20.2

c S t s o
To 25 I

1dg Sch Sfo
To 49ht30

Remark From d we seethat the instantaneous velocity
at time 0 is him 494130 30

20 Pleasemake sure yourcalculator is set in radiansmodereviewed in Sece4 Values in the second column
re
19099 0.14988 O0149999 0.001500 O0001500


